N

It Trafag BB ABR— U RMCH. FIEM B ERB URBTNEEHH
RESMSENERLEL, NHT 8250 SRENTXET R BRI BREER
BEARDENRBHE NN, ESEBRE RENSIRENMEMRIET

THIIRBIKHIAER,

FZF

0 SRR

0 SREEN

o R

5 SRBHNER
5 SRfHEHE

25E

&

RAIE

J\\\-

NHT 8250

FERR

EC79/2009 JAIEEH KBA Kraftfahrt-Bundesamt
REMHEERAS
TLIFRERNFIERBRA, FHaI R
IRERK IS E M

WERE pihpe ] B @ +25°C RE +0.5%FS BEE
+0.3%FS HEE
WETE 0..1%0...600 bar NRERE -40°C ... +85°C
0..15%0...7500 psi
BHES 4..20mA,0.5...45VDC,0...5VDC, TERE -40°C... +85°C
1..5VDC, 1...6VDC,0...10VDC, (B34 PVC 22: -5°C ... +60°C)
0.1...10.1VDC,0.5...4.5VDC (FE45 PUR 24:-40°C ... +70°C)
%
NLH @25°C (BSL) SRELE =+ 0.2% FS BaR!(E /A1 EC79/2009:
€1*79/2009%406/2010*00047*00
Trafag sensors & controls Industriestrasse 11 +41449223232 m
Switzerland 8608 Bubikon www.trafag.com

sensors@controls

03/2024

HiE% H72338g

EEE SR



NHT 8250

8250. XX XX XX XX XX XX

METE Y EE BE 1BRED EE BE 1BRED
[bar] [bar] [bar] [psi] [psi] [psi]
0..1 2 25 7 0..15 30 350 Gl
0..1.6 3.2 32 73 0..30 60 700 G5
0..2.5 5 50 75 0...50 100 850 G6
0..4 8 60 76 0..100 200 1450 G7
0..6 12 100 77 0..150 300 2500 G8
0..10 20 200 78 0...200 400 2500 GA
0..16 32 200 79 0...250 500 2500 G9
0..25 38 300 80 0...300 600 4000 HA
0..40 60 300 81 0...400 600 4000 HO
0..60 90 400 82 0...500 750 4000 H1
0...100 150 500 83 0...1000 1500 5000 H2
0...160 240 750 85 0...1500 2250 7000 H3
0..250 375 1000 74 0...2000 3000 10000 H5
0...400 600 1500 84 0...3000 4500 14500 G4
0...600 900 2000 86 0...7500 11250 29000 H6
fermkeg AN S, ¥ERE10.3 % 33 AEXES, K 05% 35
EA#E0 G1/4" §MBLL, % DIN 3869 (B4 61/63/83) 17
1/4" NPT JMBLL 30
1/8" NPT 4MEZ 43
7/16"-20UNF-2A SMZ4L, SAE J1926-2 (Heavy Duty), B4t :FifF 61/63 9 69
9/16"-18UNF-2A SMB4Y, SAE J1926-2 (Heavy Duty), Zrdt: fifE 619 67
RSED AL, TAARE, IR 9.4 mm, ) PA 01
S AHESL M12x1, 4 £F, PA ##, IEC 61076-2-101 32
S AHESK M12x1, 5 £, PA #4#, IEC 61076-2-101 35
HESHESL MIL-C 26482, 6 51, £ 8 02
{f$THEk Deutsch DT04-3P, 3 § D3
#hEHEL Deutsch DT04-4P, 4 §+ D4
345 IP67, PVC #1413 22
345 IP67, PUR #4443 24
345 IP67, #%} EPD Raychem FDR25 2 08
HHiES RAhiES A7z 1(f#eR) U (fiEB)
4..20mA NEFR FRHES) 24(9...32) VDC 19
0.5..45VDC® > 5.0 kQ 3 Us- <20 mA 24(9...32) VDC 20
0..5VDC® > 5.0 kQ 3 Us- <20 mA 24(9...32)VDC 14
0.1..4.1VDC® > 5.0 kQ 3 Us- <20 mA 24(9...32) VDC 28
0.1..5.1VDC® > 5.0 kQ 3 Us- <20 mA 24(9...32)VDC 29
0.5...5VDCH > 5.0 kQ 3 Us- <20 mA 24(9...32)VDC 22
1..5vDC? > 5.0 kQ X Us- <20mA 24(9...32) VDC 25
0.5..5.5VDC® > 5.0 kQ 3 Us- <20 mA 24(9...32) VDC 24
1..6VDC® > 5.0 kQ 3 Us- <20 mA 24(9...32) VDC 16
0..10VDC > 5.0 kQ 3 Us- <15mA 24(15...32) VDC 17
1..10VDC > 5.0 kQ 3 Us- <15mA 24(15...32) VDC 26
0.1..10.1VDC > 5.0 kQ 3 Us- <15mA 24(15...32) VDC 13
0.5..45VDC Lk o > 5.0 kQ 3 Us- <10 mA 5(4.75...5.25) VDC 23

H72338¢g EL2/7 sensors & controls



RefF FEFLIESE M12x1, 5 5 2
TbiRAERTLIES (BSEE 01)
2244 FKM, -18°C ... +125°C
2244 EPDM, -40°C ... +125°C
2244 NBR, -25°C ... +100°C
YRS | A HRE 2+, 1RE 3 153, 1R E 4-
(INBTHHES 19 MR AEK 01, TAARE)
KRB | &R HEE L, 1S 2+, FR ST 3 18, 1S 4-
(XEFHEES 13,14, 16, 17, 20,22, 23, 24, 25, 26 FIEBER AR 01, T iTE)
YSTRE | A5 T 1+ iS5 2 $ht, 4Bt 3, HEE 4 -
(IXBTFiHES 13,14, 16,17,20,22, 23, 24, 25, 26, 28, 29 M EZS AL 32, M12x1, 4 §)
YE | A HRE 1+ 5 2 1Eh, 45 3 -, 4 B
(XAFmEES 13,14, 16,17, 20, 22, 23, 24, 25, 26 HIEB 28 /MEL 32, M12x1,4 §)
YRS | A 1R 1+, HEE 3 - 4
XATFHEBES 13,14, 16, 17, 20, 22, 23, 24, 25, 26, 28, 29 EE SR /\EL 32, M12x1,4 §1)
YRS | &/ HRE 1+ 65 2 -, HEEt 4 53
(XA TFimEHES 19 MBR/AHFEK 01, TAVAFAE)
Y5RE | /e HRE 1+, H65T 2 -, HEEL 4 153
((RBTHHES 19 MEBRAREEL 32, M12x1,4 §)
KRB & 1RE 1+, HEEt 2 -, S 3 Y, 1R E 438t
(RBAFiEmHES 13,14,16,17,20,22,23, 24,25, 26, ME 2R AMEX 32, M12x1, 4 §1)
KB | & HEE L, 15 2 -, 1BE 3+, 4 15
(Ed1ES 13,14, 16, 17,20, 22, 23, 24, 25, 26, 28, 29 MEB R AMEL 01, TAVARAE)
YRE | e  HiE 1+ 5T 2 -, 465 3 0ut, 4 483t
(d1ES 13,14, 16,17, 20, 22, 23, 24, 25, 26, 28, 29 BB /MESL 01, TAVATA)
KRB | &0  HRET 1+, 65t 2 154, 15 4 -
({AHES 19 eSS AEL 32,M12x1,4 §1)
YRR R A + 3R C-
({55 19 AEBES Ak Deutsch DT04-3P, 3 §F)
1B | 475 HEs A +, 1E5 B W, St C -
R BFHHES 13,14, 16,17, 20, 22, 23, 24, 25, 26, 28, 29 F1# 28 /Mdik Deutsch DT04-3P, 3 §1)
KB | &0 HRE 2+, H@E 3 -
(EAHES 19 MBI AESK Deutsch DT04-4P, 4 £1)
BB | A5 R 1, 1B 2+, 15 3 -
(RBFHHES 13,14, 16, 17,20, 22, 23, 24, 25, 26, 28, 29 FIF8 28 /ML Deutsch DT04-4P, 4 §1)
YRE | e  HRE A+, HEE C 4%t B/D -, FEEHE $ith (BEBAIDIER)
(RBFHdES 13,14, 16, 17,20, 22, 23, 24, 25, 26, 28, 29 FIF 28 /MK 02, MIL-C 26482)
S| & HRE 1+ HEE 2 -
((RBTHEES 19 MBRAHEX 32, M12x1, 4 $1)
1S | &/ RS 1+, H65 3 -
((RBTFimtHES 19 MERARK 32, M12x1, 4 )
KERE | &P /R HaET 1+ ST 2 -, 4l 3 -, 4
((UEH{ES 19 ANEBIRAKEX 32, M12x1, 4 5)
US| LhE A 1+, 4-
((UH{ES 19 AlEBARAKEK 32, M12x1, 4 £)
YSHE|AA e HE s 2 -, 1R 3+ 4 5t
(S 19 MEBSAEL 32,M12x1, 4 §)
5|4 ME: R 1+ HEt 2 1, 5 3 33, 5 4 -
(RBTHHES 13,14, 16,17, 20,22, 23, 24,25, 26, 28, 29, FIEEESAMESK 32, M12x1, 4 §t)
YHE|4mE st 1+ 5t 2 1, 15t 3 -
(X BFHHES 13,14, 16,17,20,22,23, 24, 25,26, 28,29, MBI A K 32, M12x1, 4 §F)
BAKE0.5m
H4KELOm
H4KE 2.0m
EZEaat g
$h# el (ECT9)7

VB PESIETEE

DBFESEO32/35

) BEKES I

S TR MARE 50 HfEY

O NESERE > 16 bar

) E#E0 17 (UNESERE < 350 bar

) IRYESAE J1926-2(ER)inE, NESEE R AA630bar

H72338¢g $F3/7

NHT 8250

8250. XX XX XX XX XX XX

33
34
61
63
83

90
91
95
96
Gl
92
El
E2
E3
E9
E6
FO
F1
G3
G4
F3
F4
F5
G2
G5
G8
F6

F7

EM
M
2M
VM
HC

sensors@controls



NHT 8250

RBARE

BSHE BHiES [ HBBE 4...20 mA: 24 (9...32) VDC
0.5...4.5VDC: 24 (9...32) VDC
0...5VDC: 24 (9...32) VDC
1..5VDC: 24 (9...32) VDC
1..6VDC:24(9...32) VDC
0..10VDC: 24 (15...32) VDC
0.1...10.1VDC: 24 (9...32) VDC
0.5...4.5VDC tb,
10...90% U,,,:5 £ 0.25VDC
EFAYE EAME 1 ms/10... 90 %irFRED
BBERE L% 100 ms
R EiRERIF, F2ERERE @ 25°C, 5 HEH 4..20 mA: &k U, =32VDC
0.5..4.5VDC,0..5VDC, 1..5VDC, 1...6 VDC, 0...10
VDC,0.1..10.1 VDC: &K U, =28VDC
0.5..4.5VDC LbE &K U .=14VDC
FEES NRRE -40°C... +85°C
IMERE -40°C... +85°C
(FB4% PVC 22:-5°C ... +60°C)
(B84 PUR 24: -40°C ... +70°C)
Pt IP65, IP67, IP68
E BK 95 % H3HE
1REh 15 g RMS (20...2000 Hz) (EN60068-2-64)
25 g sin (80...2000 Hz), 1 oct./min, (1x @ 25°C)
(EN60068-2-6)
] 50g/11ms
100 g/ 6 ms $&§HE% M12x1 (EN60068-2-27) 2
EMCEBHERA Y iagt EN/IEC 61000-6-3
TG EN/IEC 61000-6-2
Wi EhiE fERkER (TR BUARKEN, RS
ENEO (BN R) 1.4404 (AISI316L)
(S 1.4301 (AISI304)
L) FPM/EPDM/NBR
HEEHEK SHITHES
B8 £950g
REHE 25Nm
VBN EBSEER
VATFERREO32/M35
H72338¢g BT4/T sensors & controls



NHT 8250

RIFTAEETI(NWP) 0.08 ... 70 MPa
RAAFNIIEES 0.1...100 MPa
fiiES Class 0, Class 1 und Class 2*
EARBE 71...88
EA&O fH 17: 23K NWP 35 MPa

{55 30, 42, 43, 68: %X NWP 70 MPa
EEtE X758 61 71 63

ST R ERR, AANENERSAFNER. BFUHNESAFENERL MAERFIUERTEN=mAT, E/5EEM0.8barZ]700bar.

EEPbh ]

E 2835 feRi2E33
¥EE 0.5 % ¥BE0.3%
BE SIRE® @-25... +85°C (% FS BaRY(E] +1.75 +1.0
KEE @ +25°C [% FS BEAY(E] +0.5 +03
NLH @ +25°C (BSL) [% FS B88U{E] +0.2 +0.2
TCERREHEMERTE [% FS/K B22Y(E] +0.03 +0.01
LERBRE @ +25°C [% FS $28U(E] £0.75 £0.75
EFtEdE HAME 1 ms/ 10 ... 90 %IRFREN
MEKE 0.5 % MEFFE 0.3 %
! 5
== - |
5 = = Rt T — =
= ~ —+ - =1 —_ __| - — 14
o\;i — i — e | E 0--— = Z == L —] ===r== -1 —- -
Sod 41 T N (N Y N El — = | = _——_ﬁ_‘ —
: | =T T T
< & < — 4
4 — D | 5
s = T== 50 40 30 20 0 0 10 20 30 40 50 60 70 8 90 100 110 120 130
7 Temp. (°C)
50 40 30 20 10 0 10 20 30 40 50 60 70 80 90 100 110 120 130 max. — —  typ.—— [ TEB(-25...+85)
Temp.(°C)
max. — —  typ.—— [ TEB(-25...+85)

X HIER www.trafag.com/H72338
1B IFIER www.trafag.com/H73303
IMRF www.trafag.com/H70606

H72338¢g Em5/7 sensors & controls



M12x1
018.8

8250.XX.XXXX.35.XX.XX

27.5 22.8
—
34
8250.XX.XXXX.D3.XX.XX
34 27.5

=

8250.XX.XXXX.22/24/08.XX.XX

0188

12 17
]
= s
e w1
Seal o
DIN 3869 - ;{g
8 Tla
8250.XX.XX1T.XXXX.XX  8250.XX.XX30.XX.XX.XX

21

0-Ring
012x2

Msx7

9116"18UNF /5
SAE6 ()1926) g

8250.XX.XX6T . XX.XX.XX

H72338g

NHT 8250

28 10.2
: [ee)
4+— - — Fre| =
H =l =
8250.XX. XXXX.32.XX.XX
34.75 11.6
_ o o
_ -2 e
8250.XX.XXXX.02.XX.XX
27.5 23.19
| _ - |
_
1.9
8250.XX.XXXX.D4.XX.XX
28 21
1
_ =T w
| - - I <| oo
] =2 2
T

8250.XX.XXXX.22/24.XX.XX

_1_0..1 O-Ring
08.92x1.83

M5x7 /A

1/8"NPT
L
[

7/16"-20UNF
o 021
<= SAE4 (J1926) HEXTO
Tle
8250.XX.XX43.XX.XX.XX 8250.XX.XX42.XX.XX.XX

54..60

=]

8250.XX.XXXX.XX.XX.33

Em6/7

23

S

0-Ring
(8.92x1.83

M5x7

7/16"-20UNF

SAE4 (J1926) 921
HEX19

8250.XX.XX69.XX.XX.XX

max. 5 mm 26

27

8250.XX.XXXX.XX.XX.34

sensors@controls



NHT 8250

BS#EO
PR R SEE
IP65 22 IP6722 IP6792  IP67,IP68Y%  IP67,IP68Y Y
Tk M12x1 MIL-C DT04-3P DT04-4P
b EE 4-1% 5-1% 26482 31k 4-1%
9.4 mm
32 35
3 2 3 2
5
4- .
1 4
1
i—shfe'd 90 | 92 E1 E6|F4 F5/G2 |G5|G8 FO G3
P ® s (pos. supph) 2 2 1 1/1/1/1|1|1|1 3 4 A A A 2 2
|
4720 OUs begsebb>1 9 | 4 | 2 3/2/4|2(372/3/4/2 1 B B|Cc 1 3
T—o«—@eclrih/hous.ing> 4 3 4 442 4 E
“IIIII; 8250.xx.xxxx.xx.19
g 91| E3|E9 95|96 |E2 | F6 | F7 |Gl F3 F1 G4
P (1@ U tpos supot 1/2/3/1 1/1/1/1]1]1]1 2 Al A A A 2 2
>t i @ouomi—> [2 113 2(3[4(3 /224 4 B | C c| B 4 1
V-0 Us s soot 3/4/2(2 3/4/3/2 /433 3 COBD g | ¢ 1 | 3
L\ gearh/housing> |4 (3|44 42243 5 E | E 3
8250.xx.xxxx.xx.13/14/16/17/20/22/
23/24/25/26/28/29
DAERIRERME REMIEFLIEREN
@SRk BEHR
3 1P68, 100 mbar, 4h
4...20mA: min./max resistor vs. supply voltage @ Pmax = 100%
1200 I
I Z
L L L |
— — = Rmax 4
1000 sesscces  Rmin100°C
€ Rmin 125°C 4
= 7
o
= 800
g Z
Z 600
§ A //
5 iz v
E 400
b Z ,/
S 7 7
200
/
7 ,//
0
0 5 10 15 20 25 30
Customer Supply Voltage (V)
H72338g i sensors & controls



